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Copy and complete each problem below.  Set your working out clearly as you have been shown.

Give the remainder as a whole number.

### ÷ 8 ### ÷ 5 ### ÷ 5

[1] 515  ÷  8  = [2] 619  ÷  5  = [3] 679  ÷  5  =

### ÷ 7 ### ÷ 4 ### ÷ 6

[4] 370  ÷  7  = [5] 406  ÷  4  = [6] 478  ÷  6  =

### ÷ 7 ### ÷ 6 ### ÷ 5

[7] 596  ÷  7  = [8] 716  ÷  6  = [9] 816  ÷  5  =

### ÷ 11 ### ÷ 3 ### ÷ 3

[10] 764  ÷  11  = [11] 822  ÷  3  = [12] 924  ÷  3  =

### ÷ 11 ### ÷ 4 ### ÷ 3

[13] 594  ÷  11  = [14] 665  ÷  4  = [15] 732  ÷  3  =

### ÷ 12 ### ÷ 3 ### ÷ 3

[16] 967  ÷  12  = [17] 1087  ÷  3  = [18] 1181  ÷  3  =



ANSWERS

Division
Copy and complete each problem below.  Set your working out clearly as you have been shown.

Give the remainder as a whole number.

### ÷ 8 0 ### ÷ 5 0 ### ÷ 5 0

[1] 515  ÷  8  = [2] 619  ÷  5  = [3] 679  ÷  5  =

64 123 135

0 ### ÷ 7 0 ### ÷ 4 0 ### ÷ 6 0

[4] 370  ÷  7  = [5] 406  ÷  4  = [6] 478  ÷  6  =

52 101 79

### ÷ 7 0 ### ÷ 6 0 ### ÷ 5 0

[7] 596  ÷  7  = [8] 716  ÷  6  = [9] 816  ÷  5  =

85 119 163

### ÷ 11 0 ### ÷ 3 0 ### ÷ 3 0

[10] 764  ÷  11  = [11] 822  ÷  3  = [12] 924  ÷  3  =

69 274 308

### ÷ 11 0 ### ÷ 4 0 ### ÷ 3 0

[13] 594  ÷  11  = [14] 665  ÷  4  = [15] 732  ÷  3  =

54 166 244

### ÷ 12 0 ### ÷ 3 0 ### ÷ 3 0

[16] 967  ÷  12  = [17] 1087  ÷  3  = [18] 1181  ÷  3  =

80 362 393

54  r0 166  r1 244  r0

80  r7 362  r1 393  r2

85  r1 119  r2 163  r1

69  r5 274  r0 308  r0

64  r3 123  r4 135  r4

52  r6 101  r2 79  r4


